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3. Unuinpwuwdulyp qunmud L A-hg dhusth B ghwnh hnuwbph hwlwpwl ninpnipjudp:
Swuwwuwphhtt pupdhsp fpwthwgtg, hulj dhtyy JEkpwunpngybip, npp wmbkg 20 pnyk, twyp
ouwipdynud k ghinnh hnuwuph wqpbgnipjudp: ‘Lwpuwnbuygwshg nppulnh dudwbwlny wybkih
n1y twjwlyp Jhwubth B, kpk wnhwuwpwl A-hg B twdulp hwutnid tp dElnijiu wbqud
wykh o dwdwbwlnid, put B-hg A:
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Lwtth np wdwbpdbwnpp hpbwjwlut k, onpwt hwdwpdtp L ujupnid wqunlipguws
onpwjhl, pung npnid wdwykpdbnpny wugunn hnuwuph nidp Yihuh hwduwuwp 1, =1, +1;:
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